1st Economics Test Review
Textbook concept review
A need is something that is necessary for survival. 
A want is an item that we desire but that is not essential to survival.
Economics is the study of how people seek to satisfy their needs and wants by making choices.
Goods are physical objects. Services are actions or activities that one person performs for another.
Scarcity implies limited quantities of resources to meet unlimited wants. 
Shortage occurs when producers will not or cannot offer goods and services at the current prices.
Factors of production: land, labor, capital. Physical capital includes buildings, tools, and machines. Human capital is the knowledge and skills a worker gains through education and experience. Entrepreneurs utilize factors of production to make profits.
Trade-offs is what we give up when we choose one course of action over another.

Opportunity cost is the most desirable alternative given up as the result of a decision.
Guns or butter is the trade-offs a country face, military goods vs. consumer goods.
Thinking at the margin- deciding whether to do or use one additional unit of some resource. 
Once the opportunity cost outweighs the benefits, no more units should be added.
Production possibilities curve shows a range of ways to use the economy’s productive resources.
Production possibilities frontier is the line on a pp graph that shows maximum possible output. Efficiency means using resources in such a way as to maximize the production of goods and services. Underutilization means using fewer resources than an economy is capable of using.
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Cost is the alternative we give up when we choose one option over the other.
Law of increasing costs states that as production switches from one item to another, more and more resources are necessary to increase the production of the second item.
Factor payments are the income people receive for supplying factors of production, such as land, labor, or capital.
Market is an arrangement that allows buyers and sellers to exchange things. Specialization is the concentration of the productive efforts of individuals and firms on a limited number of activities. 
Household is a person or group of people living in the same residence.
Firm is an organization that uses resources to produce a product, which it then sells.

Factor market is a market in which firms purchase the factors of production from households.
Profit is the financial gain made in a transaction.
Product market is a market in which households purchase the goods and services that firms produce. 
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Self-interest is one’s own personal gain. 
Incentive is an expectation that encourages people to behave in a certain way. 
Competition is the struggle among producers for the dollars of consumers.
Advantages of a free market
· Economic efficiency- producers make only what consumers want, when they want it, and generally at prices they are willing to pay. It satisfies everyone.
· Economic freedom- freedom of workers to work where they want, firms to produce what they want, and consumers to buy what they want.
· Economic growth- competition encourages innovation and growth. Entrepreneurs are always looking for the most profitable business and what people want most.
· Additional goals- consumer sovereignty is the power of consumers to decide what gets produced.
Articles review

News from the lab

Outline

· The editorial argues that economics is not a proper science, because no decisive falsification can be made based, and experiments are inconsistent with the theories. 

· The first reflection exemplifies a hypothesis that can be supported by an experiment, meanwhile pointing out that the experiment doesn’t certainly prove the hypothesis.

· The second reflection dismisses that argument by exemplifying many applications derived from the principles of economics.
· Just because one theory fails, it doesn’t mean the entire subject is falsified.
A Primer On Correlation Versus Causation by Economists Do It With Models

Outline

· A and B coexist ≠ A(B nor B(A
· A and B coexist = A(B or B ( A or C(A&B or some other things, we don’t know
· Meaning of the “enlisting in the military on one’s lifetime earnings” experiment: there is something that the researcher can’t see.

· The decision to enlist is a choice variable, determined by many factors, and resulted in different situations.

· Tie back to the cartoon on the cover sheet. The seatbelt sign is on because it will get bumpy, not vice versa.

The X Factor of Economics: People
Outline

· Economic problems are not self-evident. The answers cannot be reached like the answers in physics, chemistry, and biology.
· No isolated event had an effect on the economy, not even a large amount of money
· Economics doesn’t tell is a policy is fair because personal values differ
· Economics is not a total free-for-all; it does have a common consensus on some subjects like “tariffs and important quotas, centralized economies, and flexible, floating exchange rates”.
· The biggest X factor is people, because people can do a lot of things with money however they please. Economics is also the study of people’s behavior and its impact on the economy.
· Economy is a huge complex problem, we either simplify it or solve it, or we just let it solve itself.
Article 4: News Flash: Economists Agree

Outline and questions

· Points 1 and 2 ( free market
· Point 3 ( flexibility
· Point 4 ( government’s role
· Point 5 ( outsource means more resources
· Point 8 ( business cycle is changing, year is fixed, always follow the business cycle
· Point 9 ( each era has its own policies
· Point 10 ( transfers-in-kind means when there is no cash we use other capital as reimbursements
· Point 11 ( deficit is bad for the economy
· Point 12 ( minimum wage generates pressure for the companies, especially during depression. When there is less money, they hire less people; reasonable use of resources, but unemployment rises
· Point 13 ( negative income tax means government welfare to those who have a low income.
· Point 14( Imposing anything, in this case pollution ceilings, is always difficult and troublesome. Instead, an incentive, in this case a tax, can better do the job. Industries don’t want to pay for their pollution, so they reduce pollution. But less pollution means they will have to look for cleaner ways to produce or produce less; they will look for an optimal solution themselves in search for maximum profit and minimal loss.
Baseball Players and Opportunity Costs
Outline

· Opportunity cost is something given up resulting from the decision. 

· In this case, keeping Jose means the 5 million dollars cannot be spent on other players. Signing him off means the 5 million dollars can be spent on other players. All depends on the team’s choice

· Two options. A: 6 different players. B: 1 core player and 5 minor leaguers. 

· Question by the fans and TV hosts: “Why get rid of the best players and get nothing in return?” Answer is we can spend the 5 million dollars on somewhere else.

Principles of Economics

· Economics is the study of how society manages its scarce resources
Principle 1: People Face Trade-offs

· More time spent on studying A, less time spent on studying B

· More money spent on making weapons, less money spent on making consumer goods

· Efficiency- getting the most it can from its scarce resources

· Equity- distributing economic prosperity fairly amongst the members of society

· Efficiency is not always equity, vice versa. For example, when the government redistributes income from the rich to the poor, the equity increases, but the poor now has fewer incentives to work, so efficiency decreases.

· Recognizing the trade-offs doesn’t tell us what decision should be made, but what options we have available.

Principle 2: The Cost of Something Is What You Give Up to Get It

· The cost of something is not as obvious as it might first appear. For example, going to college is costly because you have to pay for the tuition, book fees, and fees for room and board; but you have to pay for the room and board as well. 

· The most valuable cost is time. The choice is whether to spend time studying or working.

· Opportunity cost of an item is what you give up to get that item.

Principle 3: Rational People Think at the Margin

· Rational people systematically and purposefully do whatever they can to make the most benefits for themselves from their opportunities

· Decisions in life are rarely one-sided, often a mix

· Marginal changes are small incremental adjustments to a plan of action

· Rational people compare marginal benefits and marginal costs. The choice is not between blowing off the exams and studying 24 hours a day, but whether to spend an extra hour watching TV or studying. The margin is 1 hour, not the polar extremes.

· Why is water so cheap, while diamonds are so expensive? Price doesn’t depend on need; although we need water more than diamond, diamond is still more valuable. Price depends on marginal cost and marginal benefit; diamonds are rare, while water is abundant. The marginal benefit of an extra diamond is large.

Principle 4: People Respond to Incentives

· Incentive is something that induces a person to act. It can be a reward or punishment. When the price of apple rises, people choose to eat more pears. The incentive is the higher cost of apple and the relatively lower cost of pear. 

· Gasoline tax ↑, electric cars, fuel-efficient cars, hybrid cars ↑.

· Seat belt law alters a driver’s cost-benefit calculation. Wearing seat belt means the likelihood of getting badly injured is smaller, but drivers also don’t drive as carefully as before, so more pedestrians get injured. Sam Peltzman concluded that seat belt law resulted in little change in the number of driver deaths but more pedestrian deaths.

· We have to consider both direct and indirect effects.

The Cartoon Introduction to Economics
Outline

· Optimizing individual tries to satisfy their own preferences, not just economically. All of us are optimizing individuals, although we don’t have to make a lot of money.

· Economics is about the actions of optimizing individuals. 

· Microeconomics is the studying of one optimizing individuals and the interactions between two or more optimizing individuals.

· Macroeconomics looks at bigger-picture issues that affect the whole economy

· The big question is, under what circumstances does individual optimization lead to outcomes that are good for the group as a whole?

· Optimizing individuals create competition. It leads to maximum profit of the business and lower prices for the consumers. Competition is the invisible hand.

· Before making decisions, we look at the available options and pick the best one. Decision trees map out the available options.

· A decision tree should lead to different outcomes. But some outcomes are unalterable and always going to be there; they are called sunk costs. For example, when you are stranded on an island, whatever you do, one of the outcomes is that you are stranded.

· Marginal analysis the comparison of similar choices.

· A company’s research and development is a sunk cost. When a product reaches the profit-maximizing price charging more or less for the product cannot generate more profit. Price ↑, revenue ↓, profit ↓. Price ↓, revenue ↑, profit ↑.

Economics in One Lesson

Outline

· Economics is haunted by fallacies.

First fallacy

· We all have interests identical or antagonistic to other people

· Public policies could benefit everybody in a long run, or benefit one group at the expense of all other groups. There is no such a policy beneficial to everyone immediately.

Second fallacy

· Persistent tendency of men to see only the immediate effect but not the long-run effects

· The fallacy of overlooking secondary consequences.

· Although we are aware of the many other actions with elementary consequences, we always ignore them in the field of economics.

· We are already suffering the long-run consequences of remote or recent past.

· In the long-run, we are all dead; our ancestors didn’t care about us, we are not caring for our descendents either.

Broken Glass

· A broken glass results in a $250 raise in consumption. This consumption leads to another consumption. The thing is endless. The public menace was a public benefactor.

· A broken glass results in a $250 loss which might’ve been used to consume. This lack of consumption leads to another. The thing is endless. 

· However, the latter case is often ignored. We only see what is immediately visible to the eye.

Cartoon Introduction to Economics
Outline

· Trading is something we’ve all done since we were children.

· Trading has mutual benefits, even if someone is better than another in everything, because there is the concept of comparative advantage. Even though Ooga is more efficient than Mog in every aspect, she doesn’t spend as much time focusing on product, so in the end for that product she is more disadvantageous and trading benefits her as well.

· People are drawn to trade because the gains from trade are impressive. What we have and what we are capable of might not be what we value the most; we don’t always have what we want, that’s why we trade.

· If there is nothing to stop people from trading, then they will continue trading, and they won’t stop until they’ve exhausted all possible gains from trade ( Coase Theorem.

· Impediments to trade: taxes, laws, regulations, incomplete rights, inability to write or enforce contracts. Other than due to the impediments, people will always want to trade ( invisible hand.

· A commodity that is easy to trade will sell at the same price all over the world, because people always look for the lowest price, and only that price which is the same throughout the world survives. All lanes on a road will have the same moving speed, because people always fill up the fastest lane and leave the slowest lane. 

· Question posed: what makes an outcome good? A good outcome should at least be Pareto efficient.

· An outcome is a Pareto improvement of another if switching makes at least one person better off and makes nobody worse off. 

· An outcome is Pareto inefficient if it can be Pareto improved, Pareto efficient if it can’t.

· Between two people, one gets all and one gets nothing, this is also Pareto efficient because you can’t make someone better without making the other worse, but it is not fair.

· Economists can’t guarantee good outcomes, but they can help you avoid bad outcomes ( Pareto efficiency might not result in good outcome, but Pareto inefficiency must result in bad outcome.

· If there is nothing stopping people from trading, then they will continue trading until they reach a Pareto efficient outcome.
· Trading occurs because people they want to maximize their Pareto efficiency.
